


UNCLASSIFIED
ORNL 965

This document consists
of 21 pages. No.

of 231 copies.

Series A,

Contract No. W=7405, eng-26

HEALTH PHYSICS DIVISION

EXPERIMENTAL JAR TEST LABORATORY STIRRING DEVICE

Conrad P. Straub
P. N. Hensley

DATE ISSUED: MAY 14 1951

OAK RIDGE NATIONAL LABORATORY
operated by
CAREIDE AND: CARBON CHEMICALS CCMPANY
A Division of Union Carbide and Carbon Corporation
Post Office Box P
Oak Ridge, Tennessee

UNCLASSIFIED 3 4456 0360855 &



UNCLASSIFIED

ORNL 965
ngtics

INTERNAL DISTRIBUTION

G. T. Felbeck (C&CCC) 17. W. D, Lavers 28. A. Hollaender
Chemistry Library 18. A. M. Weinberg 29. F. L. Steahly
Physics Library 19. J. A. Swartout 30. D. W. Cardwell
Riology Library 20, E. D. Shipley 31. W. H. Pennington
Health Physics Library 21. F. C. VonderLage 32. M. T. Kelley
Metallurgy Library K. Z. Morgan 33-42. C. P. Straub
Training School Library«&sg3), F. Western 43-47. P. N. Hensley
Central Files . A. H. Snell 48. M. J. Skinner

C. E. Center 25, E. H. Taylor 49-66. Central Files (0.P.)
C. E. Larson 26. R. C. Briant

7. B. Humes (K=25) 27. J. S. Felton

67-78.
79.
80-85.
86.

87.
88-91.
92,

93.
9L-97.
98.

99.
100-10k.
105-108.
109-112,
113-11k.
115.
116,
117-118.,
119-122.
123-125,
126,
127,
128,
129-131.
132,
133.
134,
135-136.
137.
138-140.
1.
142-145.
146,
147,
148.
149.

EXTERNAL DISTRIBUTION

Argonne National Laboratory

Armed Forces Special Weapons Project

Atomic Energy Commission, Washington
Battelle Memorial Institute

Brush Beryllium Company

Brookhaven National Laboratory

Bureau of Medicine and Surgery

Bureau of Ships

Carbide and Carbon Chemicals Company (K-25)
Columbia University (J. R. Dunning) ‘
Columbia University (G. Failla)

E., I. du Pont de Nemours and Company
General Electric, Richland

Idaho Operations Office

Iowa State College

Kansas City Operations EBEranch

Kellex Corporation

Kirtland Air Force Base

Knolls Atomic Power Laboratory

Los Alamos Scientific Laboratory
Mallinckrodt Chemical Works

Massachusetts Institute of Technology (A. Gaudin)
Massachusetts Institute of Technology (A. R. Kaufmann)
Mound Laboratory

National Advisory Committee for Aeronautics
National Bureau of Standards (R. D. Huntoon)
Naval Medical Research Institute

Naval Radiological Defense Laboratory

New Brunswick Laboratory

New York Operations Office

North American Aviation, Inc.

Carbide and Carbon Chemicals Company (Y-12)
Patent Branch, Washington

RAND Corporation

Sandia Corporation

Santa Fe Operations Office

2
UNCLASSIFIED



150-16k.,
165-167.
168-169.
170-171.
172.
173-177.
178-179.
180.
181.
182.
183-186.
187,
188-191.
192,
193.
19k,
195,
196-197.
198.
199.
200.
201-202.
203-20L.
205-21).
215,
216,
217-221,
202,
223,
221,
225,
226-227.

228-230.

231.

UNCLASSIFIED

Technical Information Service, Oak Ridge

USAF, NEPA Office

U. S. Geological Survey (T. B. Nolan)

U. S, Public Health Service

University of California at Los Angeles

University of California Radiation Laboratory

University of Rochester

University of Washington

Savannah River Operations Office, Wilmington

Western Reserve University

Westinghouse Electric Corporation

Yale University

Atomic Energy Project, Chalk River

Chief of Naval Research

H. K. Ferguson Company

Harshaw Chemical Company

Isotopes Division (Mr. McCormick)

Library of Congress, Acquisition Department (J. W. Cormn)

National Bureau of Standards

National Research Council, Ottawa

Naval Research Laboratory

Nevis Cyclotron Laboratories

Oak Ridge Institute of Nuclear Studies

United Kingdom Scientific Mission (M. Greenhill)

USAF, Eglin Air Force Base (Technical Library)

USAF, Wright-Patterson Air Force Base (Rodney Nudenberg)

USAF, Wright-Patterson Air Force Base (CADO)

U. S. Army, Army Field Forces (Captain James Kerr)

U. S. Army, Atomic Energy Eranch (Lt. Col. A. W. Betts)

S. Army, Director of Operations Research (Dr. Fllis Johnson)

S. Army, Office, Chief of Ordnance (Col. A. R. Del Campo)

S. Army, Office of the Chief Signal Officer (Curtis T. Clayton
thru Major George C. Hunt)

U. S. Army, Technical Command (Col. J. H. Rothschild

Attn: Technical Library)
UT-AEC Agricultural Research Program (Charles S. Hobbs)

U
U
U

°

2a

UNCLASSIFIED



ORNL-965
page 3

Abstract

A 10-unit laboratory jar-test stirring device for determining
optimum chemical dosage requirements was designed and built by groups
of the Health Physics Division, Ozk Ridge National Laboratory. For speed
control, a gear shift-controlled drive is provided, which will permit
peripheral velocities of 2.83 feet per second (rapid mix) and 0.7l feet
per second (slow mix). A description of the unit, drawings, material

requirements and estimated cost, excluding overhead, are included.



ORNL-965
page 4

EXPERIMENTAL JAR TEST LABORATORY STIRRING DEVICE

by

Conrad P. Straub* and P.N. Hensley¥**

Because of the lack of sufficient basic data, coagulant
dosage must be determined by cut-and-try procedures with jar tests
using a lagboratory stirring device. Through the use of such a device
it is possible to determine the proper coagulant for a given water,
sewage or industrial waste, the amount of coagulant required, and.
the optimum pH value for effective coagulation. Purther, it is
possible to observe the effects of small changes in any of the above

factors.

In his discussion of mixing and flocculation (or coagulation)
Hopkinsl states that for baffled basins a good floc will be formed by

mixing for 15 to 30 minutes at a peripheral velocity of 1 to 1.5 feet

*
Sanitary Engineer, Public Health Service, assigned to the Health
Physics Division, Oak Ridge National Laboratory, Oak Ridge, Tennessee,

**Instrument Maker, Health Physics Division Research Shop, Oak Ridge
National Laboratory, Oak Ridge, Tennessee.

lepkins, Edward S., Water Purification Control. The Williams and
Wilkins Company, Baltimore, Maryland, 1943. Page 10.



Experimental Jar Test ORNL-965
Laboratory Stirring Device page 5

per second. In processes in which mechsnical stirring is utilized
he suggests that the initial paddles should operate at a peripheral
speed of 4.5 feet per second (rapid mix) and the final paddles at not
| less than 0.75 feet per second (slow mix) for a total time of 4o

minutes.

Many types of stirrers have been built for jar test studies;
some have been very elaborate, others very simple. Several commeréial
models are available. The data available on tﬁree such units have
been tabulated and are shown in Table 1. These units have variable
speed electric motors or rheostat controlled drives. Qur experience
has shown that the variable speed electric motor-driven units do not
operate very satisfactorily because of difficulties in maintaining
sufficiently low constant speeds. ;n addition, the first unit listed
in the table has speeds in excess of those suggested by Hopkins. The
other two units described have operating ranges equivalent to those
that have been given; however, it will be noted that they, like the

first unit listed, are all six-unit stirrers.



Experimental Jar Test. ORNL-965
Laboratory Stirring Device page 6

Other units have been described in the literature by various
authors®s 3» b, 5. and are similar to those available commercially.
One exception is the unit in use in the Sanitary Engineéring Laboratory,
Harvard University5, This unit, which is used for study purposes, has
six paddles driven by an electric motor with a rheostat speed control.
Under each paddle a lens has been installed to.produce a Tyndall beam,
from a light source in the base of the unit, to assist in detecting the
time of the first floc appearance and the nature of the floe. Thig
unit has been used as a basis for the design of the unit described

herein which was built in the Health Physics Research Shop.

As developed, the unit includes a two-speed gear shift-

controlled drive for operating the ten stirrers, and facilities for

2Phelps, Farle B. Public Health Engineering, Vol. 1. John Wiley and
Sons, New York, New York. 1948. Page 459.

3Cox, Charles R. Laboratory Control of Water Purification. Case-
Sheppard-Mann Publishing Corporation, New York, New York. 1946.
Page 18k.

hDayis, Calvin V. Handbook of Applied Hydraulics. Section 17. Water

Tregtment by Thomas R. Camp. McGraw-Hill Book Company, Inc., New York,
New York. 1942. Page 803.

5Fa.ir, Gordon M. Harvard Notes on Water Supply and Treatment. l9hi.
Mimeographed Sheet Number 1249,



Experimental Jar Test ORNL-965
Laboratory Stirring Device page 7

the production of a Tyndall beam through the base of each jar placed
on the bed of the unit. The two speeds selected are in accordance with
those suggested by Hop"kins, and experience has shown that they are
satisfactory. For rapid mix (asbout 5 minutes duration) the samples

are stirred é.t a peripheral velocity of 2.83 feet per ;second and for
slow mix at a peripheral velocity is 0.7l feet per second which corre-

spond to 216 and 54 revolutions per minute, respectively.

The unit has an aluminum frame, is light in weight, is rugged
and has interchangesble parts. The gear drives may be varied to’ cover
other speed ranges where they may be required, and changes may be made
with ease. A photograpl; of the unit is shown as Figure 1 and dimensions
will be found in the attached series of drawings (Drawing numbers D89IJL -

8999). Material requirements will be found on Drawing No. D-9000.

It is estimated that the unit will cost about $325 to $350, ex-

cluding overhead.

Acknowledgements

The writers wish to acknowledge the modifications to the gear
housing suggested by Mr., E.W. Davis. These have been incorporated in

the design.



Experimental Jar Test Laboratory Stirring Device

ORNL-965
page 8
Table 1
Commerical Laboratory Stirring Devices
Nurber of Speeds

Model Cost” Stirring Units Drive Mechanism R.P.M, Ft,/Sec**

A $120 6 Vari-speed motor 250-1000 3.27-13.1
with positive gear
drive in conjunction
with an electric
speed governor in-
stead of rheostat

B $125 6 Rheostat, enclosed 15-110 0.197~-1.4k
in a metal pro-~ Speed indicated
tective box by tachometer

- C $175 6 Rheostat control 10-100 0,131-1.31

*Cost as given in catalog.
**Assuming a 1 inch by 3 inch paddle.






ol

N\
GEAR SHIFT 4™\ ® /)
SEE DW6. D-8992 <.

NO
INSTALL SWITZH

(e

COUPLING ...

SEE PWG. D-8992

O

_ TENSION ABNM
TSEE DWG. 0-8932

_._ ‘DAQM -

@ H@)—

TE: ; 1 . : - S
ITEM 5 UPSIDE Dom/i * ’
; .

ﬁﬁama
1

A NS @ 5
t< IR I
. T} : ‘%
1.'&»\\\\ | ‘
Ml | :
: X (;D i

LABORATORY JAR TEST
STIRRING DEVICE
ORNL. — MARCH 195]
DRAWING D -89/ NOT CLASS/F/ED

FIG.2




SECTION A-A

o=

e 1] x
N |
SECTION B-8 /DLER 29 @ % 41 ) 033

PADDLE DRIVE

(&) (@) (3) (32 () (0) (1) (33)
f o D¢

N

B

LABORATORY JAR TEST

' STIKRING DEVICE
GEAR SHIFT COUPLING TENSION ARM ARPNL. MARCH 195/
DRAWING DBI32 NOT CLASSIFIED

LLJd t

FIG.3




2!

6 ——— 1
ER
T,
s' /*"/r::?3;54 Dw7 0 8 95
PSRN T [
b ‘
@~ :

#8(199) Drill #hru #
4-20NC-2 fap

" Locate in assembly
from lfem 2 Dwg. D-8955

|
1
\MIZS)D//// fheo ¢ 1

78-32 NC-2 tap 4 hotes. __

Locate from ~
Item 26 Dng. D-8996 |
‘aa//ze) Drilf thru ¢ J

832 NC-2 tap 2 hale

Locate from l
|
|

)‘em 5 D»rq 2] 593/

L #30(128) Drill thru é

RG-32 NC-2 tap 4 holes
Locafe in assembly
from Item 23 This sheet.

‘ LEFT END BRACKET
Mcferwl A/ummum 24 5T

— 2

Wi

#30(128) Orill thrv ¢
#5-32 NC-2 +ap 4 holes
LocEte from

/tem 2 Dwg. D~ 8995

@ RIGHT END BRACKET
(Samc a5 /tem 8 exc

| Requjred a/{ ggg’_ o/e
q”/ //7 GCC
/ Pec;mrcd
/
~t
i [~ !
)

Zod X.032 wall

’H"l’é

=

7 /— 5/707‘ We/lo

YJ SH. Thbing

PADOLE
Materisl: As shown

10 Re qu/rc o

z Thick Stainless

/ Stee! Sheet

#18(/69) Drill thru #
—— countersink for *8 toft hesd
machine screw, & holes

@ GUSSET
Material: Aluminum 24 ST

2 Required 33 shown
2 /?equ/reo’ opposite hand

LABORATORY JAR TEST

STIRRING DEVICE
ORNL. MARCH 195/
DRAWING D-8993 NOT CLASSIFIED

FIG. 4




el

ge

e —— - - 40
20 -
4 ‘ #30(128)0rit! Hhru ¢ % Oriy theo -
’ Countersink for *5 f/at /0 hotes / e L
/) head screw. 12 holes 15_‘1- N I¢§
i AT b (7 N
) L a o
R “
Nis

, f‘

b— 7 e 7 7
‘ : N
I . ; : S
4t 7 —+ 7 - 7 - 7 ‘ l
! NS
. | -
o0 ‘ ISl
\ : " o
Material: Aluminum 24 ST
/ Eequirad
R 39
, #42,’2‘ /2542%/ ?rzi//ffbru / A ¥ gn'/// thry y 3
/5 - -2 13, o - te
2 .] 2 holes ” * T'ZL e
!
®py
¥ ' ' ]
- 7 7 7 34
B0 S s

/
S 32

/

|
|
N

LABORATORY JAR TEST

@ TOP INSULATOR
Materisl: Asbestos Sheef
/ Required

FIG.5

STIRRING DEVICE
ORNL. MARCH /257
DRAWING D899 NOT CLASSIFIED




14l

40-
#I8(.169 Orill #hro #
E— —— ] 7 7 -+ 7 countersink for %8 flaf
3 , , : head JereH. 4 holes
ki‘ Fi | ——3F —1 - i - (2 'ho es in each end)
RES S R o —¢ : o
| ! ) . 1 578 via.(Ref) Drill # ) i ' I
! e Orill thru ¢ 2 . A
N N~ Z /.. .reem for 002 press fi} .
Y8 -16 NC-2 tap with Item 41 g D-5593 Z 254 Orivt thro
s , 2 holes f R 5 hole . [V
Wi~ I —t | L, . — bl L i 4 i
L 28 ik i 1l it iy ik i ;
T T T T T T ! T 'L! i
-1 H ' é’*‘ - e
@ PEAR BEAM FRONT BEAM
Material: Aluminum 24 57 (Same sg’ Hem 33 excepr‘
! Reguired OM/T 2764 hole)
/ Eequﬂed
70 #39(099) Orill % des

#30(128 Drill thry é ¥8-32NC-2 tap.
8 holes (4 holes ineoch end) Locarte
/ in assembly from Ifem 23 Dwg D-8993

¥5-40 NC-2 fa b eep
/ locate from / em 16 Dng.0-8994

1
¥
Qongy

/

#39(.099)Drill % decp £
—#5-40 NC-2 top ¥Ya decp
Locate from ltem /6 Dwg. D-8994

//z -

LEFT END RIGHT END
Morterial: Aluminum 24 ST (Same a3 /fem M except

! Reguired OWT %420 holes)

#8//99)0rif Horv 4
20 NC-2 tap 2 holes
Locats inasssembl,
From /tem 2 this sheet

/ Eeyurred

S/OE
Materisl: Aluminum 24 ST

2 Required

T i

Q. B~

%6 Orill thru
4 holes
.I pmn—
i 4
)# oy T U
¢ v
: ' Rix
+} . ,_% I
! y &
_ %) ) i

ng—jw——d

47

\ s Drill thru ¢

@ INSULATOR FPAD
Material: Asbestos Sheat

/ Reguired

—countersink for ¥8f/af
head screw. 3 holes.

) Sikher
Jaldker

\_*"/0-24 NC-2
Filiister head
derew, /2 long, progs

@ RING
Materis/: Brass

2 Reguired

LABORATORY JAR TEST

STIRRING DEVICE

QRNL. MARCH 1951
DRAWING D-8995 NOT CLASSIFIED

F1G.6




1l

. g #30(.128) n//J/;mJ
4/6 .‘[ ,—¥5-32 NC-2 fop 2 holes
= 2 5’? — | / Locate /‘rom lfem 52 #his sheet
i | ;
S ) l:ldr’,j
| . : 81
AN ~ vl
'@)’ RO e
R 3¥el
‘ ? wi 58
| ARND
i \ ‘ 3L
1 | Q q}‘ e
"y
‘ l ] ECE
. @ ey e RHEEY
| ; LY ‘ m‘» ®h | [ ag™
oy PR s AN e (LY -
b & 6@ kel 8
/T ; ; O T
—ig l =i
e 3 o ﬂ/a(/e9)0n//f/w ¢ countersink.
5 { \tor #8 Fat head screw 10 holes.
- 4 ~ T this sicle, 6 bock side)
Mafcna/ Aluminum 24 ST
/ Ec'qwrcd
#18(169) Drill thrv

2 holes

.
—-— 1500 —
3

AN ' -
\/a(ﬁe/) Drill ¢ ream thru
Fit with

for #ght
/tem 51 Dwg. 0-8992

@ BRACKET
Marterial: Aluminum 24 ST
! Required

5 Tight fitwith
/& [tem 46 Dng 0-8992

1

BN

l‘/.75 ,.] Ifem &0
625—1 {tem 48

@ BEARING
Moterial: Moke from ‘Bost-Bronze”

bearing Cat No. B-46-10

! Regquired

@ SPACER

.~ Material: Make from excess
of /tem 48.
!/ Regquired

_Clesrance dril] for sef scrow

@ In /fem 4 Ong 0-8992
1\ Free £} with

/z Orit! thru 4

e (Rer) cow'"rrba/e{ deep | 3
/c/ C’JJ ress Fir wi , ’1 3™
- /45, . _T_ 1250 j Jtem 45 uny DE992, 2 holes. - */gg
i ] e
Wit . i:‘:i Wit i
o 1 bl R = SE ¥ -

A v
r ! '

\ ] |
S L o s
VN N l
783 ] & H

% ' = :
LU | * g‘ rlw
¥ H4 o i [\ i
Ak ;:; i ity i b
33 il L i Hit
> ' : ) |
a™ I ‘ Ny ‘
; p J 0(128) Drifl 78 dleep

o 28 - T3 NC-Z tap Vadlesp 3 holas

B a Locate From Jfem 26 this sheet

- g o]
‘I’7UP
Materiol: Aluminum 24 5T
! Required #30(128) Dril 78 deep
- RB-32 NC-2 15, /za’eep 3 holes
& Locate from item 26 this sheef
2 ——
i B 1% \
e K - | 3
@ My Z 32 .1 \\ ha! -}

S | . b 2
g 70 ! - T
LR 1 } -
axR O HH HH Tf"‘

W HE i i ! E

N D 4u Wl 11K 0l

a3 4 [ [y ~ ‘\JJ

AN ' . ! ]

AN L g !

0 | il

oo — |4t

\ | T

! —
i I
| I
N | 4} . u &t -
WDw '55”!/2)/ il L - dU[ELF
! I

/ 4’&‘ /25 <—l

z 5B Ori/i thru 4

2 ’/52 (Ref)courterbore Yi6 deep

for OOO5 press #iF wi
/Fem 56 Owg. 0-8992

BoTTOM
Materisl: Aluminum 24 ST
! Regqurred

72 Drilf thru #

"16(Ref) counterbore  deep
for 0005 press fitwit
Item 45, Owg. D-8992

AL pree it L j/:;ifzzmswz;fé“gz;? f
Y, /554’77.’5—?3997 ! LABORATORY JAR TEST
STIRRING DEVICE
(a7) sysams, QRNL . MARCH 1931
g Fequ/(;_a’ DRAWING D-8996 NOT CLASSIFIED

FIG.7




Si

B
2. -2 r & 3
et /6] ! oo 093 Drill 8 deep
| L . o | Free 1if with
& SRS BN P - OF [tem 63 this sheet
! o i e 47 I : |
: -
|
| | | jz
| i w
| 1
! ] - / % 1 o
! ‘ e | - Lri%p) I3 , ‘
| *_ 52 £ ;
? e ; &~ 0 GEAR
) || o 1 i J) : Mater/al; BOSTON GEAR H-3240
___________________ —T 1 B e ! RPeouvired
L n*55/5/‘/79)[7’/// :‘/;ru‘ P i
12 holes. Locste From 2 35— —
Items 26,43 ¢ 54 Dwg. D-8996 % !
in &ssembly. T @ ™ T
i - - ! X45° Chom.
! : ! . ﬁeom end's, 52 Decp Keynoy
i i e
e | e
'- ’ -‘ -H‘ i i l ] '
o e Sl o ' - 33 o S pitns
/4 A T : p 250 Djs._ Snvg ¥ with
— R ! e 875 —t=- 75 ${Flor [Titem 45 Owg D-899:
I ! i
| t SRS (SS— E— W T
1 b S e ——— L
H 7 &uw 1 | = —1
S L 250 Dis. Tight fit with .375 Dia. Medivm Fit with
@ PIN COVER Item 45 Dwg. D-§992 /tem 64 Dwg D-8998
Material: Drill Rod Material: Aluminum 24 ST
| Required ! Required
. . X SHAFT
_é‘ ,57,:://;, ’;’:;://fsqz"’z ot Material: Drill Rad
N T S e ¥ owg 8992 I Required
T B i ‘ 093 DriYf % Deep
i@ KNOSNSEOSONOANNONNANNKNY T free fitwith .
T i . 1tem 63 this sheet .25/ Orill# ream
-]_a:z[- @ for medivm fif with
; 4 g e B }- | /tem 59 this sheel
p / 5*‘ ZE;_I L F
__‘_Zq '5 s Oryyl thru T T Me -
: Yo X 45° Choam
N M =~ ﬂ both sides S\ + i '
T_ F ' ! L 52 Dis. Tight 1 with
oy ~—T {Fem 6! fhis sheet @ GEAR
= L 5 I Q I~ e Moterial: BOSTON GEAR H-326
Slv Ji >t ! Required
1 ) @ COLLAR
— gg_ (Typ) / o Morterial: Dril/ Rod
S g~ ! Required
R LABORATORY JAKR TEST
) FoRk STIRRING DEV/ICE
inf My .
ity Seiitadl QRNL. MARCH, 1951

DRAWING D-8997 NOT CLASSIFIED

FIG.8




Ll

TN el 4—-‘ Flat
4y i

‘{____.375 Dia. Snug Frt with
Item 56 Owg. 0-8992

@ SHAFT .
Material: Drilf Rod

! Regquired

i~
| —

;} 0
l_»47__ “ L‘[ Tight £t with

o4 8 1tem 59 Dwg. D-6997

@ KEY
Material: key Stock

| Required
7 _
2 -
- -7 —— /_76
]_l_w, 7% & Both £nols
) ¢
mlﬂ ¥ \{; — - . -
Orill thro
/ ‘—1 \- T o4 2 holes
=7
Bk ®
w®is
R 1 ; i)
b~ [—'—i—v———’ ]
e =1
Material: Aluminum 24 ST
! Required

FHXA5°Chm. | 250 [ia Tight £iF with

Item 45 Dwg O-8332

w

_Clearynce drill for sef screw

“d Tl in Jem 65 Owg. D-§992
__Locate from set screw
! in [rem 65,0»«7. D-8322
i

e e
; Loy
BUS HING
Moterial: Steel

! Required

f

4250149 Dritl thru.

WASHER
Materiol: Brass
15 Re qu/re d

BEARING
Moterd/: Make trom "Bosf-Bronze”

bearing. Cat- No. FB &8-5
/ Ecqu/rad

L] 1rem 25 Dwg. D-8992
062

-250 - ~ 093 Drill thru for Faht fiF
with /tem 63 Dwg, -8997

/125 Medium it with

__.875 Dia. medium #* with,
Item 59 Dwy. D-8397

COLLAR
Materisl: Drill Rad

| Required

5 X Keyway Medivm fit]
with Ifem .% this sheet

"
yy— /

375 Dis. Medivm
¢t with (tem 68
Fhis sheet

i

o

~ ¥Y8-16NC-2 Thd.
%6 X Ve Slot

Material: Drill Rod

! Required

_¥3¢(106)Drill V2 dleep
*¥4-32NC-2 Top g deep

N

|.500 Orill # ream #or
—.002 press £it with
Item &8 this sheet

SPROCKET
Material: ‘Boston® Sprocket CA-24
! Required

LABORATORY JAR TEST
STIRRING DEVICE

ORN.L. MARCH 195/
DRAWING D-8398 NOT CLASSIFIED

FIG. 9




81

Lo

S "FU28T) Orif) 1 deap

#30(128) Orill ¥iirv

£g8-:p NC-2 t3p For okt Fit with

SHAFT
Materist: Drill Kod

10 kequired
626 Drill #reom for
—.002 press Fifwith
Item 35, this sheeat
/25
N
/4 O\
/ W
1T il -
\ Il
: Y

Press /tem 35 #h/is
sheet into roctgf
betore milling slot-

SPROCKET
Material: "Boston” Sprocket CA-24

10 Eequ/rea’

500 Drill £ ream thru
—for 002 press 17¢ with
\/fm 30" Dwgy 0-6992

|
Al |
|

e SPROCKET
Material: Boston” Sprocket CA-I6
4 Eeqwrca

Item 37 Dwg. D-8992

#36(./06) Drill 7t deep
T #6-32 NC-2 top Y8 deep

|
o
Q - X
- S
093 Drill #rres L_' Medium it with

Items 35441 ih/s sheet

/ /
& \wCoarse Knurl (Dlamana/)

,'é X/-é Slot

Y8-16 NC-2 Thd

N
oy
A

@ BEARING
Material: Make from ‘Bosi-Bronze®

bearing. Cat No. FB 8/0-8
/0 Ecqwred

312 Drill # resm thrv
for medivm fit with —
ttem 39 1his sheet

KNOB
Material: Bunhnq Bronze
/0 /?eqwrsd

"

with ftem 30
Dwg. D-8992

#56//05) orilf % deep

#6-32 MC-2 top Ygdesp

Ma/cna/ oriil Rod

4 Required

./25—*-‘!;‘1‘./25* '
- )

375 Dis. Medium it

Press bear/ /nhLH_
Item 38 this sf:eef 125
before m///m7 slof

@ BEARING
Materisl: Make from ‘Bost-Bronze’

bearmq Cat No. FBE/O-8
Eequtred

LABORATORY JAR TEST

STIRRING DEVICE

ORN.L. MARCH 1957
DRAWING D-8999 NOT CLASSIFIED

FIG.10




MATERIALS LIST
/Zgw pwe. No. | oTy, NAME SIZE MATERIAL

| D-899 | 4 |Hex Head Bolt $-20 x | /8 Lg. Stl.

2 D-8995 | |insulator Pad 43 x 5 5/8 x § Thk. [Asb. Sheet
3 D-8991 | |Ratio Motor "Boston" MB 58323

4 D-8991 8 |Flat Head Screw #8-32 x 7/8 Lg. stl.

5 D-8991 | |Switch "Allen Bradley" Bulletin 600 - Size |Heater P |4

*B* Form 51 Type |

6 D-8991 I |Wire 3 Lead Length As Req'd.
7 D-899 | | |Male Plug (Elect.) 3 Lead

8 D-8993 | |Left End Bracket 12 x 12 x 3/8 Thk. |Al. 24 St.
9 D-8991 2 |Fillister Hd. Screw #8-32 x § Lg. stl.

10 D-8991 5 (Flat Washer For § Bolt stl.

1 D-899 | | |Hex Nut =20 | Stl.

12 D-8991 2 [Hex Nut #10-24 Brass

13 D-8991 2 (Flat Washer For #10 Screw Brass

4 D-8995 | {Left End 3 x 114 x § Thk. Al. 2y st.
I5 D-3995 2 |Ring As Shown Brass

16 D-8994 | |Top 12 x 40 x 1/8 Thk. [Al. 24 st.
17 D-8994 | {Top lInsulator 1/13/4 x 39 x 3/16 Thk.Asb. Sheet
18 D-8§9385 2 |Side 3 x 40 x ¢ Thk. Al. 24 st.

19 D-8993 10 |Paddle As_Shown As Shown
20 D-8991 12 |Flat Head Screw #5-40 x 3/8 Lg. stl.
21 D-8991 | lLadder Chain #1-A High Tensile Coppered |Stl. 8 Ft.
22 D-8993 | |Right End Bracket 12 x 12 x 3/8 Thk. |Al. 24 St.
23 D-8993 4 |Gusset 2 x 5 1/8 x & Thk. |Al. 24 St.
24 D-8995 | |Right End 3 x 114 x ¢ Thk. Al. 24 st.
25 D-8992 2 |Pin 1/8 Dia.x 11/32 Lg. [Drill Rod
26 D-83996 | |Back 28 x 4 15/16 x ¢ Thk{Al. 24 St.
27 D-8992 37 |Flat Head Screw #8-32 x 5/8 Lg. stl.
28 D-8999 Pin I1/16 0D x 15 Lg. pritl Rod
29 D-8999 4 |Sprocket "Boston" CA-16 stl.
30 D-8992 4 ([Bearing FB-68-5 Bost. Brnz.
3l D-8998 15 |wWasher 3 Dia. x 1/16 Thk. |Brass
32 D-8992 27 |Fillister Hd. Screw #6-32 x 3/8 Lg. Stl.
33 D-8995 | |Rear Beam | x 40 x 5/8 Thk. Al. 2y st.
34 D-8995 | |Front Beam | x 40 x 5/8 Thk. Al. 24 st.
35 D-8999 10 |Bearing FB-810-8 Bost. Brnz.
36 D-8999 10 |Knob | OD x & Lg. Bunting Brnz.
LABORATORY JAR TEST ST/IRRING DEVICE
O. P NMNL. MARCH 195!
DRAWING [0-3000-A NOT CLASSIFIED

FIG.1I

19




MATERIALS LIST

ITEM

NO DWG. NO. Pry. NAME SIZE MATERIAL
37 D-8992 10 |Pin .093 0D x 7/8 Lg. |Drill Rod
38 D-8993 10 |Sprocket "Boston" CA-24 stl.
39 D-8999 10 |Shaft 10D x 4 Lg. Drill Rod
40 D-8992 10 |Knurled Soc. Hd. Screw #8-32 x § Lg. sti1.
4l | D-8999 | 10 |Bearing FB 810-8 Bost. Brnz.
42 D-8997 1| cover As Shown Al. 24 St.
43 | D-8996 | |Top 28 x 4 15/16 x 3/8 ThkjAl. 24 St.
n D-8992 | |Gear "Boston" H-3240 stl.
45 | D-8992 | 3 |Ball Bearing "Nice" 1602 DS ‘
| y8 | D-3992 "1 |sprocket "Boston" CA-24 stl.
47 D-8996 | |Bushing 5/16 OD x & ID x 4 Lp. Stl.
48 | D-8996 | I |Bearing "~ |B-46-10 |Bost. Brnz.
| 49 D-8997 | |Gear "Boston" H-3240 stl.
50 D-8992 2 |Fillister Hd. Screw #8-32 x 5/8 Lg. stl.
sl | D-8992 | 1 |Pin /8 OD x | Lg. Drill Rod
52 D-8996 | |Bracket 113/16 x 2x 3/8 Thk.|Al. 24 st.
53 D-8997 I |Fork 117/16 x 4 5/8 x ¢ Thk{Mild Stl.
54 D-8996 | |Bottom 23|x 4 15/16 x 3/8 Thk.| Al. 24 St.
56 D-8992 | |Gear "Boston® H-3264 stl.
56 D-8992 | {Ball Bearing "Nice" 1606 DS
57 D-8998 | |shaft 375 Dia.x 7 7/32 Lg.|Drill Rod
| 58 D-8998 I |Key 1/8 x 1/8 x 47/64 |Key Stock
59 D-8997 | 1 |[Shaft 375 Dia.x 3 3/8 Lg. |Drill Rod
60 D-8996 | |Spacer As Shown As Shown
6l D-8997 | |Gear "Boston" H-3216 sti.
62 | D-8997 | |collar 20D x .312 Lg. Drill Rod
63 D-8997 I |Pin .093 Dia. x § Lg. |Drill Rod
64 D~8998 I [Collar | 0D x .250 prill Rod
65 D-8992 | |Coupling "Boston" FA-10-3" stl.
66 D-8998 | {Bushing 3/8 ID x § 0D x§ Lg.|Stl}.
67 D-8998 | |[Pin i1/16 OD x |4 Lg. |Drill Rod
68 D-8998 | |Bearing FB-68-5 Bost. Brnz.
69 D-8998 | |Sprocket "Boston" CA-24 stl.
70 D-8998 | |Arm 7/8 x 2 7/8 x ¢ Thk.[Al. 24 St.
71 | Dp-8es2 1 |Hex. Hd. Bolt 3/8-16 x I¢ Lg. stl.
72 D-8992 ‘2 |Hex. Nut 3/8-16 stl.

LABORATORY JAR

DRAWING D-92000 -8

O.R.N.L.
NOT

1951
CLASSIFIED

TEST STIRRING DEVICE

MARCH

FIG.12

20




	image0001
	image0002
	image0011
	image0017
	image0028



